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Instructions for the Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt any FOUR questions.

3. All guestions carry equal marks.

4. Answers may be written either in ENGLISH or HINDI; but the same medium should be used
throughout the paper.
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[ Question 1]
a) Distinguish between sentence and proposition. (6)

qTRT 3R Th IR H 3idR WY Hiford |

b) Explain truth and Validity
T 3R AUl B ARSI HIfTU | (6)

c) Explain and illustrate the distinction between Deductive and Inductive arguments.

MTHATHS 3R TS gfaaal & g 3faR ! IRl Ifgd WY H11(6.75)

[Question 2]

a) Define a term. Explain distribution of terms with examples. (5.75)

U o1 IRHUINT BRI uct ot saifid & IR IS8R0l Iigd TH |

b) Do as suggested:

i). Some scientists are philospphers. (Conversion) (2)
%3 e gRifFe g §1@Rad)
i)  Some automobiles are fuel efficient. (Obversion) (2)
SO HICATe 8- B 8| (Tddc)
iii)  No roses are ugly flowers. (Contraposition) 3)

IS A He, ol el 81 & | (HfraRRad)

c) If ‘All horses are black animals” is true, what can be inferred about
the truth and falsity of the following propositions:(Do any two) (6)

g g 918 HTA THIR 81d & " I § <1 319 foU 7T aevia & i & aR
T T A AT S el §: (Pl &l D)




i) Some horses are black animals.

$F OIS B SR 8Id & |

i) No horses are black animals.

PIS HIg PTel SR Tl el &

iii) Some horses are not black animals.

$S UIS B oFeR T8l 8ld 7

[Question 3]

a) Translate the following propositions into standard form categorical
propositions: (Any four) (1.5%4=6)

THIl BT 9P AFD THR § Tl (Bls IR)

i) Every citizen is a voter.
TR AT gidl g |
i) Only law can give justice.
Had BT 8l g U1 ¢ Thal g
iif) An apple is in the refrigerator.
T 9 IhoReX H 7|
iv) Few leaders are honest.

et TrefHifaT 8t SHFER B1d 8

v) None byt senior citizens are allowed.
DTS T8l afeep IRY ATRBY BT AR B

vi) Birds have wings.
U&fiat & TE Bid |

b) Reduce the following syllogism into its standard form indicating its mood & figure; and check its
validity using 6 rules:

(6.75)
Faffad Uraygfe o e 3MHR # §aiIT qUT SHHT HId Td 3Mpid sd1d, 3R 6 Fadl gRI g
YT B ST BN :

All students are scholarship holders; hence all students are entrepreneurs because some
entrepreneurs are scholarship holders.

o o BEgR YRS §; gafery T o ST € wiife B I eEgR UR® B

OR
All terrorists are butchers. Therefore, all cruel persons are butchers, All terrorists are cruel persons.

it adcparel a8 €, 3G T Fiee ot B arE B €, @t aidepare) FId B B

c) Test the validity of the following categorical syllogisms using Venn diagram technique. (Do any

two). (3+3=6)

ﬁy%@aﬁﬁ%ﬁmmﬁ%wwﬁwmqﬁma?wﬁamﬁml
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[Question 4]
a) Symbolize the following. Do any four. (2x4=8)

fFufafad &1 ufdsiao &3 | Pis IR B

i). He is intelligent although not honest. (I,H)



98 gfeu™ § g9 SHMER T8 |
ii). Unless you stop eating too much spicy food, you will develop a stomach
ulcer. (F, U)
O§ A 3T dgd SHfIFH FACIGR HISH BT 8§ ol B, 3MAH] UT BT @R 8l
SITET |
iii) He is poor but not honest (P,H)
a8 R4 ¢ fhg SHMER B
iv). You will be elected if you campaign hard. (E,C)
39 T SN TS 3T Hal Hed bR &l
v). Neither Ankita nor Shamita are honest. (A,S)

T 3ifrdr 3R 7 € Wy SAMER B

b) If A, B are true, X,Y are false and the truth values of P and Q are unknown,  determine the
truth/falsity of the following: (Any One)
G A BIAT G, X,Y 3§ 3R P, Q & Yod! &I Ul 78] &, a‘rﬁai%ﬂ@aﬁ
Tl YT 3t Auia S’ : (@18 )
). [P.AvVX)]D[(PDAVX]
i), ~(P.Q) D~(PVA)

¢) Check the validity. of the given argument by Truth table method. (Do any one).

gfaqal # 9 fordt T &t quauiaydr Joadr gruft fafy grr
fRuffea &3 (6.75)
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[Question 5]

a) Check validity using shorter truth table method. (Any one) (6.75)

YR Il IRON GRT AN SfALUT Bt 511d BN | (D1g Uh)
). (p>q)
(gor)
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b) Use truth table method to determine the following statement forms as tautology, self-
contradictory or contingent. (6+6)

g1 IRuit f3fY g1 a8 Myivd &% FaferiRad sy I, HTsT a1 ATl 8 -
). [(=pvr).(~qvn]>[d>~p]
i).[p.al=[(~=pVaq).(qd>p)]

[Question 6]

a) Explaln any three informal faIIaC|es giving examples: (6.25%x3=18.75)
BT JUH BN |

i) Complex Question



Sfeayy a1 Sauy iy
i) Appeal to pity
cUlHddh
i) Petitio Principii.
dhdh
iv) False Cause.
ez HROT g



